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questions in all, including Question No. I which is compulsory and selectingNOTE:Attemptfive 
wo questions from each Group. 

X-X-X 

What are the various types of OR models?7 
What do you mean by non-degenerate basic feasible solution of a transportation b 
problem?

What are the advantages and disadvantagesof having inventories?
What is meantby critical path? 

Define eventfloat in CPM 
What do mean by lead time? 
Define Replacement model
What are the needsfor Decision Tree Diagram? 
What are the Applications of Dynamic Programming?
What is revised simplexmethod?

Group-A
Solve the following LP problem by two phase method: 
Max Z-5x+8x2
Subject to the constraints: 
3x+2x23 

Xyt4x24
XtS5 and x1,x20 

Solve the following LPP by simplex method:
Maximize Z - 100 x, +200 , + 60 *, 
Subject to 6x, + 6x,, + 10 *, S 1000 

10 

10 

10 x, +8, + Bx, $ 2000 

10 + 6*, S 500 

and #, *, 2 0. 

10 A computer centr has three expert programmers. The centre wants three
application programmes to be developed. The head of the computer centre,
atter' studying carefully the prograrnies to be developed,estimates the
computer time in minutes required by the experts for the application 

progranmes as follows. 

Programmers 

C 
Programmes 

B 

120 
80 
110 

100 
90 

80 
I10 

120 140 
ASsign the program1mers to the prograinines in such a way that the total 

cOmputer time is mininum 

PTo
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Group-B 

The projeots X, ¥, Z require 
truck loads of 46, 60 and 20 rospectively per

week. The 
availabilities 

in plants A, B, Caro 40, 40 and 40 of truck loads 

respectively per
week. The cost of transport per

unil of truck load from 

plant to project is given 
below. 

10 

5 

Project

x Y Z 

A| 6 20 6 

Plant B 10 30 8 

C10 20 12 

i) 
Determine an initial solution by VAM. 

() Obtain an optimal solution by MODI method. The objective 1s to minimize the tota otal 

cost of transportation? 

Find the optimal transportation cost of the following proble.

Market

10 

AB C DE Available 

4 12 6 9 
43 

P 
100 

120 

Factory
120 

Demand 40 50 70 90 90 

Listed in the table are the activities and sequencing necessary for a 

maintenance job on the heat exchangers in a refinery. Draw a uetwork

diagramfor the project.

Activity

10 | 

Description 
Predecessor 

Activity

Disimantle pipe commections 

Dismautle heater ,closure, and | A 

floating front_ 
Remove tube bundle 

Clean bolts
Clean heater and floating head | B 

front
Clean tube bundle 
Clean shell 

Replace tube bundle 

Prepare shellpressure test 
Prepare tube pressure test and | I 

reassemble 

A 

B 

B 

G F.G 
D.E.H 

H 

-* 
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